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Answer all questions,
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if more than one answers are marked, it would be treated as wrong answer. . L
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or bubble indicating the correct answer on the -Answer Sheet using BLUE BALL POINT BPEN.- ) )
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means an incofrect answer of more than one answers for any question. Leaving all the relevant circles or
bubbles of any question’ blank will. not be considered as wrong answer.) N -
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1  Which of the following is the latest excavated site of the Harappan Gultivire 7

(1) Mohenjodara - (2) Ropdr
(3) Dholavira - (4) Kalibangan
mﬁﬁmwﬁmﬁwmwaﬁmm% ?
(1) weasEst (2) AW
(3) aﬂaﬁ’m : (4) wET
2 Which of the following is the earliest veda - - :
(1) Samveda ' (2) Yajurveda
(3) Rigveda : (4)  Atharva veda
Prfufeg ¥ @ f-w W UETH E 7
(1) wwR @ ug £
(3) wxR (@) ogdag
'3 Who wag the last Teeithankar of Jainism - _
(1) Parshwanath - (2) Rishabhdev
(3) - Padamprabhi - '~ (4) Mahaveer Swami
A b oM ddmR BT A 7 _ _ -
(1) W @ wmwE
- 3) Wﬂ‘ﬁ ' Gy H’EIE?R (S
4 In Whlch Buddlust hterature are the techmques of Gautam Buddha mcluded ?
(1) Abhidhamm Pitak @ Milind Phano °
 (3) Vinay Pitak (4) Sutt Pitak
%ﬁg@ﬁﬁwﬁmwﬁaaﬁ@wﬁﬁmw% ?
(1) ofe fes . 2)- fifa= el
(3) T fem 4) ¥ e

5§ Who was the successor of Chandra Gupta Maurya 7

(1) Ashok : (2) Bindusar
(3) Vishnu Gupta \ (4) Kunal
st A SAOEER BH a9 ? '
) O @ frgER
(3) o< | @ W
6  Which of the following is not.a sect of suffism ?
(1) Saiyadana (2) Chishtiya
'(3) Sohravardiya . (4) Kadiriya
Prfiian § AF-aT GO W GSEE TS 7
(1) (2) faldam
® vshw A - @
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7 The ‘Red Fort’ of Delhi was built during the reign of -
() Babur (2) Shahjahan
(3) Jahangir (4) Akbar
el & o et et Prrfor Rra MEA BT F gy oy ?
() [y (2)  qmETEt
3) wEiT (4) e
8 What was Saidr-us-Sudur (Chief Sudur) in Mughal administration ?
(I) Foreign Minister (2) Defence Minister
(3) Minister of religicus affairs {4) Chief Justice
T g Sa-sE-gye (e FgX) 1 a7 ?
(1) ok (2) @A
(3) enfifer wrEw @ Y (4) T= <y
9 After coming to India from South Africa in which city did Mahatma Gandhi gave
his important public appearance.
(1) Karachi (2) Champaran
(3) Varanasi {4) Lahor
Mm&mﬂﬁw%qﬁﬁwﬁmﬁ&%mwmﬁmw&aﬁ
g st @ @ 7 -
(1) =t (2) =R
(3) =E| (4)  «ER
10 Who was the Zar (Ruler) of Russia in the starting of Russian Bolshevik Revolution
in-1917 . -
— - (1) Alexander First (2) Alexander Second
(3) Catherine Second {(4) Nicholas Second
1917 % it <ieifees o1 % e ¥ wE B AR (SNEw) -
(1) TeEsPsT wum 2) W
(3) % e (4) Feoww e
11 Where was the secretariat of the League of Nations situated ?
(1) Geneva (2) Danzing
(3} Hague (4) Viena
o & W @t Rog o1 7
(1) far (2) ==
@) @) fr
12 In which conference was the United Nations Organization charter finalized ?
(I)  Yalta conference (2)  San Fransisco conference
(3) Moscow conference {(4) Dumbarton ox conference
IR AZHY & AR B o1l wY frg a=iew A Ry w7
(1) aeer wwes (2) ¥ witwE T
(3) it gw (4) sEReET i g
37 A] | .3 [ Contd...
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13 When was the first conference of the Indian National Congress started at Bombay?
(1) 31 December, 1885 (2) 26 December, 1885
(3) 30 December, 1885 ' (4) 28 December, 1885 ‘
AT T HHT B 949 AT g5 7 B YR gar ?
(1) 31 fep=z, 1885 (2) 26 Ry, 1885
(3) 30 Re=y, 1885 (4) 28 gy, 1885
14 In which of the following ‘Upanishads™ was the description of the four ‘Ashrama's’
made firstly
(1) Mundakopanishad {2) Chhandogyapanishad
(3) Vrihadaranyakopanishad (4) Jabalopamshad
IR} Sl o SeaE Tewae feg Sabtee ® gam ¢
(1) qussmtmg (2) ©RFGEUTIg
(3) gERTIHMTIG (4) <EwEEYg
15 Give the chronological sequence of the following events connected with Mahatma
Gandhi. '
(A) The Dandi March
{B) The Poona Pact
(C) The Kheda Satyagrah
(D) The Non—Cooperatlon Movement
Code :
H ODyAy® @ A3’ OO
Gy @B} ) O)©O (4) (D) (C) B) (A) -
Wmﬁémﬁaaﬁmﬁﬁﬁwaﬁiﬁrwa%ﬁmaﬁq—
(A) =S aEn
(B) gl ()
(C) w31 vomE
D) srasam e
kS _
(1) (©) (D) (A) B) 2) (A)(B)(©) D)
G}y (B) (a) D) C) 4 (D) (€C) (B) (A)
16 How many ‘Pratyanta’ states of SamudraGupta are mentioned in the Allahabad
Piller inscription 7
(1 3 2 5
(3) 7 4) 10
WA F TR & fhan ‘wera ot (St ) 9 See ¥ 7
(1y 3 2) 5
3y 7 4 10
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17 What name was given to Finance Minister of Mughal central administration ?
(1)  Wakiya - E - Navees (2) Sadra - Us - Sudur
(3) Diwan - E - Aala - (4) Mirbakshi
T B o 3 R % wer wiar o
(1) =fear — w — 5w ) & -39 - g
(3) €EF - u - smr 4) el
18  Where did the representatives of 13 American colonies declare the independence
in July, 1776 ?
(1)  Philadelphiya ' (2) New York
(3)  New Jersey . (4)  Washington
qOE 1776 €. @113 Gﬁﬁaﬁaﬁaﬁﬁﬁuﬁlﬁfﬁﬁf%ﬁﬁwaﬁﬁwmﬁaﬁ ?
(1) freselear 2) =g
() et @) e
19 Which Buddhist council took place in the time of king Kalashoka ?
(1)  First | (2) Second
(3) Third (4) Fourth
wwﬁm%wﬁ?—ﬁré\auﬁr&rﬁ ?
(1) wom (2) fag
(3) gl (4)  =gd
20 If the axis Gf earth was not inclined the rays of the Sun would have been vertical
only over - i
(1) Tropic of cancer _ (2) Tropic of Capricorn
(3) The poles (4} The Equator
u&qﬁﬁaa&r%mg&a@f@m?ﬁ@aﬁﬁmﬁmqﬁm:
(1) =& 3ar gt (2) wHT X@rux
G g (4) e ar wx
21 Aumosphere receives most of its energy from the :
(1) Convection
(2) Conduction
(3) Long wave terristrial radiation
(4)  Short wave terristrial radiation
G ATSH ST Gl B SRIwiS AT e B &
1 dma3
(2) dum
() e R € qin
(4 o fafeeer @y aor @
37_A} o 5 [ Contd...
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22
(1) California current (2) North Equatorial current
(3) South Equatorial current (4) Kuroshio current
Al & Teellarg o 99 o 90 A SF-H0 9 98Re sen ¢
(1) i ara (2) U RETEE 4R
(3) =N qReadE A (4) wgafen ara
23  Equilibrium theory of the origin of tides was presented by :
(1) R. A. Haris (2) Darvin
(3) Newton (4) Sir John Murray
TR IWr B e feer yega R o
(1) omu A (2) sid=
(3) I (4)  u S AR
24  Which one of the following pairs is not matched |
(1) Tetrahedral theory - W.S. Margan
(2) Plate Tectonics theory - Hert Hess
(3) Planetesimal Hypothesis - Chamberlin and Molten
(4) Continental Drift theory - A. Wagner
Preffae % & B—w UH g gAka T8 §
(1) agveas & fgrd — s=ud. A
(2) wire fydfamr R — 30 39 _
3) T e — el T e
(4) wEdE werE ffer - T S
25 = Match the following types of soils and regions in India and select answer using
code given below : _
List - I-(Soils) List - II (Regions)
(A) Alluvial (1) Highland areas of the Plateau
(B) Black - (it} Periphery of the plateau
(C) Red (it} Deccan lava tract
(D) Laterite _ (iv) River basins and coastal plains
Code :
(1) (i), B)(i), (C)-), D)-(i)
(2)  (A)-(iv), (BY-(i), (C)-(i), D)~()
G)  (A-(), B)-i), (C)-Li)), (D)-(iv)
@ (A)-Gv), (B)-Gi), (C)-(ii), (D)-()
ARG ¥ U W g Fretaied Jar 6 YeR T Wesl w1 gae e gar e Rl ae
¥ W @ GT Iy
g - I (3=) |t - [ ()
(A) wiTE (i) WX & s= &
(B) it (i) 9B & 9y &x
(C) (iil) =R W dae
(D) e (iv) Rer & afgs wa a2/ Tem
EE :
(1) (A)-(iv), (B)-(iii), (C)-(1), (D)-(in)
2)  (A)-Qv), B)-(in), (C)-(iin), (D)-(i)
() (A)-(1), (B)-(ii), (C)-(ii1), (D)-(iv)
@) (A)-(v), (B)-(iir), (C)-(i), (D)-(i)
37_A] 6 [ Contd...
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26 During 2001-2011 population growth of India was :

(1) 17.64% @) 18.06%
(3) 19.76% | 4) 20.06%
TRE & 2001-2011 % Jw swee gfs 5

(1) 17.64% 2) 18.06%
(3) 19.76% (4) 20.06%

27  Which one of the following wind changes its direction according to weather is :

(1)  Chinook (2) Loo
(3) Monsoon (4) Mistral
fratan § & $9-9 ge vae Hrow & erer R seww T &7
(1) to @) T
(3) wwgd (4) Frgw

28 In which layer the maximum part of atmosphere is found ?
(1) Troposphere (2)  Stratosphere
(3) Ilonosphere (4) Ozonosphere
TqIHSH B aAE W HA-E WY A T wa s ?
(1) dfeds d=a (2) AN Hed
(3) omEw "UswW (4) oieie Jusw

29 The largest rver island is :

(1) -Majuli (2) Lakshadweep
(3) Moore (4) Minicoy
qY IS AW ¥
(1) et (2) wedm
() (4) T
30 Tropical everygreen forests are found in India : _
(1) Tamil Nadu {2) Andhra Pradesh
(3) Kerla (4) Madhya Pradesh
RE A W7 HiLaHT TINER 99 U WK §
(1)  atrag & (2) oy WA A
(3) R A : (4) =g wesr
31 The state which usually does not receive winter rainfall is :
(1) Jammu - Kashmir {2y  Tamil Nadu
(3) Maharashtra (4) Arunachal Pradesh
T e e A sfiaweie gite T8 B 9w ¥
(1) =W - 7R (2) dbtrEE
(3) TERISE (4) orETEE Wl
37 Al _ 7 [ Contd...
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33 The factor not affecting the distribution of insolation is :
(1) Cloudiness |
(2) Distance from sea
(3) Number of sun spots towards the earth
(4) Obliquity of sun's rays
Frafqr % RO B S BRE THAE T B §, T’ -
(1) wevsET
) wEER
(3) g W e W) FEE W e
@ o & R @ R
"
33 Delay in the occurrence of next indirect tide at a place, 15 =
(1) 60 minutes {2) 13 minutes
(3) 26 minutes (4) 52 minutes
Ry T T O aTTel waTe % o N T gk E
(1) 60 f=e - (2) 13 fie
(3) 26 e (4) 52 e
34  Sahyadri is -
(1) Vindhyachal range (2) Western ghat
(3) « Swwalik range (4) Outer Himalayas
el ¥ -
(1) Treama I (2) ufkel "R
(3) forenfas 9ot - (4) v femeE
35  The place known for manganese mining in Rajasthan is -
(1) Talwada (2) Singhana
(3) Dariba ' (4) Zawar
T # AN @ & g e e T -
(1) aeEnst 2) Tue
(3) < (4) WX
36 Which group of districts in Rajasthan have recorded highest growth percentage of
population in 20117
(1) Jaipur, Jodhpur, Jaisalmer (2) -~ Badmer, Jaisalmer, Jodhpur
(3) Jodhpur, Banswara, Ajmer (4) Jaipur, Kota, Udaipur
reiiag ¥ ¥ B3 Bt % = ¥ 2011 § eiften seen gig wiawis siftoa R 7
(1) wEE, gy, SRR @) =R, S, AU
(3) Uy, TEERT, ST (4) WA, WA, ITAR
37 A : 8 | { Contd...
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37  Which district of Rajasthan is not a producer of Calcite ?

(1} Sikar (2) Pali
{3) Sirohi (4) Alwar
TR % - em Heawge w1 searaw T & 2

(1) - 2) u=
(3) Rd (4 s

38  Which of the following is not a correct match ?
(1) Instrumentation limited - Kota
(2) Rajasthan State Chemical Works - Sambhar
(3) Chambal Fertilizers - Gadepan
(4) Hindustan Zinc Limited - Debari
Frerfefem & & wiw—ar gifm 98 & 7 _-a
(1) sRi=m fafits — =
2) wHW ' Siew gad - w@iny
() o wEREET - R
(4) /Tegam R fifes - 3l

39 River Berach is tributary of the river -

(1) Banas -~ (2) Luni
(3}  Sabarmati 4y Som
REER G SRR et R
1) == (2 wh
(3) aEEd (4) dm
40 Gross National Product {GNP) at market prices does not include -
(1} Indirect tax (2)  Subsidy
(3) Depreciation (4) Wages and salaries
T HAA T Fbe LT GE A ahefer T8
(1) oweEs &T )  agew
(B) TaFm @ Rl T T

41  Net National Product (NNP) at factor cost differs from Net National Product at
market prices by the amount of -
(1) "~ Current transfers from rest of the world
(2) Interest on National debt
(3) Net indirect taxes
(4)  Capital consumption. allowance
ATEF FH 9T g@ﬂﬁuwawﬁmﬁwgﬁguﬁﬂwﬁﬁwrﬁhww
LIC I
(1) 99 ¥R & wIe = seqmeor
2) v o a7 e
(3) 9= Ivw@d ¢
(4) st suHm

37 A] 9 [ Contd...
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42 When nominal GNP is Rs. 65,000 crores and price index is 125, than real GNP
will be -
(1) Rs. 13,000 crores (2) Rs. 52,000 crores
(3) Rs. 65,000 crores (4) Rs. 81,250 crores
m%wn@qmﬁ,momw&%eﬁraﬁqﬁm 125 ¥ @t Irefe
T TEA 3@ (GNP) € — .
(1) 13,000 ®0e sug (2) 52,000 F= TR
(3) 65,000 s vu (4) 81,250 w3 v

43  What factor does not remain constant when demand schedules is made ?
(1) Prices of complementary goods (2) Prices of substitution goods
(3)  Prices of factors of production  (4) Prices of commodity itself
m%m@@mwﬁ%ﬁﬁqmm%ﬁw ?
(1) g agei & Sy (2)  weO e & Sy
() wEER & wreet o Sy (4) =g N B Oy

44  What effect an improvement in the technology will have on the supply curve ?
(1) ~ Wil shift right ward (2) Wil shift left ward
(3)  Will bedd backward (4)  Will remain stationary
aﬁmﬁ'gwaﬁrlﬁwwwméﬁn? _
(1) el &R fraffa 2w (2) =9 &R Rrafia 2
(3) U = v g @) fax wm

45 When the negative income effect outweigh the substitution effect, the concerned
good is - '
(1) an interior good {(2) anormal good -
(3) -~ a giffen good (4)  aluxury good
NS AAG ST Y, uﬁwmwa@rmarmamﬁ@a‘rawﬁaaa@% -
(1) & 2) wmFE wy
(3) fifeT =g @ Tl @ =g

46 Which of the following is a qualitative control method of credit used by a central
bank ?
(1) Bank rate and Repo rate (2) Open market operation
(3) Statutory hquidity ratio (4) Regulation of consumer ¢redit
mﬁﬁﬁa%mmw#mwwmﬁ% ?
(1) &% 3 o AW = . (2) T TR T Ry
(3) S W suE (4) SwrE g @ frgae

47  Which one of these qualities of money is essential for it to perform any of its
functions ?
(1)  acceptability (2) stability in valye
(3)  durability {4)  cognizability : _
w%%&mﬁ%ﬁmm%%ﬁﬁ%ﬁgﬁﬁﬁﬁ?wwmm%?
(1)  werdar (2) 7w A ferar
(3) k@@t (4) veum

37 A 10 [ Contd...
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50

51

When credit is to be expanded in the economy, the central bank -
(1) sells securities in the open market

(2) buys securities in the open market

(3) increases the bank rate

(4) increases the cash reserve ratio

i Sl ¥ Ry & TR ST 8 O R g6 -
(1) g« s=R A wieryfaat ser $1

(2) B IR ¥ gt @i s

(3) % T Femm F

(4) &% HOMIAE B Ve E)

At present the Governor of RBI is -

(1) Subba Rao (2) Y. ¥WReddy
(3) Raguram Rajan (4) C. Rangrajan
T A e 8% & TR v -

(1) g=n @@ 2) =€ @ =
(3) g T (4) . TREA

Which of the following are included in broad money (M3) in India ?
(a) Currency with the public

(b} Demand deposits with commercial banks

(¢) Time deposits with commercial banks

(d)  Other deposits with RBI

Select correct answer from code given below :

(1) (a), (b) and (c) only ' (2) (a) and (b) only
(3) (c).and (d) only 4) (a), (b), (c) and (d)
TRa ¥ foega ge (M3) A T @ 5= ifee feon s & 7

(2) FGT % 9 BT

(b) ~=aTuiE d® & T AE SEE

(c) eaaiie d&i & Y@ T THE

(d) o 9% % aE o SHE

2 R i e S B T W 9w g - o

(1) (a), (b) 87T (c) Haw (2) (a) AT (b) Hew
(3)  (c) ¥ (d) e @) (@, (b), (c) & (d)

Which of the following sector provide maximum employment in India ?
(1) Agriculture

(2) Manufacturing industries

(3) Services

(4) Manufacturing and non manufacturing industries

aRa | B9 F F B T O weR oifis USRS et ¥ 7

1) i

(2) T s

(3) v

(4) Tl a ) FEEl g9

37 A | 11 [ Contd...
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55

56

Out of the following, which one concept of deficit in the union budget is the latest
one ?

(1) Fiscal deficit {2) Revenue deficit _
(3) Budget deficit . {(4) Effective revenue deficit
& g W Feafafad 4 € B9 ¥ W A SEERw w9y Al ¥ 7

(1) TG e (2) TEE "Rl

(3) o = (4) TR O "9

Which of the following 1s the second major tmport item of India ?
(1) Petroleum, Oil and Lubricants (POL)
{2) Capital goods

(3) Gold

4) Coal

FrafaRad & § HF 9 9Rd F oA § ki wpE ww ¥ °
(1) Ugliw=s, a1 gd s (POL)

(2) /stera aegd

(3) @

@) <

Which type of unemployment is chronic in nature ?

(1) Disguised (2) Frictional

(3) -~ Seasonal 4) Structural

o WeRR o1 ST TaXa e Yahia @l &l & 7

(1) fodi g (2) winem
(3) e (4) WIS

In the situation of disguised unemployment, marginal productivity of labour is -

{1} Positive (2) Zero

(3) Maximum (4) Increasing
fisdy 5% JOSTIY H oTeREm H, AT Hi UM SAREHA SR § -
(1) " g ) ¥

(3) wftram ' (4) = B

India's total merchandise trade as a percentage of GDP in the year 2011-12
stood approximately at -

(1 432 (2) 23.4
(3) 342 4 243
¥ 2011-12 & Witg @ @ ARG AR, GDP & wiiskd & &9 §, drw -
(1) 432 (2) 234
(3) 342 (4) 243
37 Al .12 | Contd...
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57  Which of the following body is responsible, as per constitution, for distribution of
resources between the centre and the states ?

{1) Reserve Bank of India (2) Planning Commission
(3) Finance Commission {4) National Develo;ﬁment Council
Preited & @ & 1 Frea @Rt % srEm, sl % e e ot § R % frg
Rrefee & 7 '
(1) Tt §% sifw shear (2) diwT srEE
(3) T emanr 4) u<r Reew afitug

38  Among the following, what is not related to Traditional Perspective of Political
Theory ? &
(1) Valueladen approach (2) Institutionalism
(3) Positivism (4) Euro-centric
frifte & & ity feeta & wowww it & dafm Y ?
(1) ¥ Wi suem (2) werEE
(3) . HAFAR (4)  TO9 Bl

59  Who has defined Politics as 'Authoritative Allocation of Values' ?
(1)  Garner ' (2) Graham Wallas
(3) David Easton - (4) Robert Daht
o Tl @) el & waew onder % we A wfonfya R & 7

(1) e @ T
| (3)  3as e 4) &S sEw

60 Among the following, who led the 'Chicago School' ?
(1) Charls Merriam (2) Eric Voegelin
(3) Arther Bentley (4) August Comte
Preif % & Rray Rrerit e w1 g foa 7
(1) = A _ (2) ufitw 9mtew
(3)  onex de (4) & B

61 Power legitimized' is called -
(1) Force (2) Authority
(3) Influence (4) Manipulation
‘aferegt afRT wead ¥ -
(1) =& (2) gur
3) wm | @ wrgd

37 A] . 13 - | Contd...
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63 In India, 'Cyber Crime' is enumerated in -
(1) Union List (2) State List
(3) Concurrent List (4) Residuary Subject
WG, WA a9 § -
(1) @agd A (2) T ga A
(3) wad gl A (4) eratyre Rwg ¥
64 'Traffic in Human beings' is prohibited by -
(1) Right to Equality (2) Right to Freedom
(3)  Right against Exploitation (4) ' Right to Constitutional Remedies
T S gelTare aAfid & - -
(1) war & e &R0 (2) el % SfHET FR
(3) o % fres aR@R T (4) ddures ITER F efted w
65 In which part of the Constitution, Directive Principles of State Policy are
" mentioned?
(1) Part - IH (2) Pari- IV
(3) Part - (4) Part - VIII
H&Taﬁﬁsmmﬁw _Hfy ¥ FRus T @ ewE T 7
(1) e - 110 2) - IV
(3) wmr- VI (4) W - VII
66 In Fundamental Duties, our culture has been mentioned as -
(1) Composite (2) _Secular
(3) Harmonious (4) Popular
T wdl ¥ N HEpR B W Y -
(1) amfe® - (2) HuTIH
(3) ™ (4) wrRtE
37 Aj : 14 ' [ Contd...
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Identify the Incorrect match of Feature of Indian Constitution and related Provision
/ Judicia! Interpretation thereof :

(1) Republicanism - Elected President

(2) Democracy - Universal Adult Franchise

(3) Federalism - Supremacy of the Parliament

(4) Rigidity in Constitution - Docirine of Basic Structure
ﬁﬂéﬁﬂﬂﬁ%ﬂ%fﬁ%ﬂﬂ@ﬂmﬂ%ﬁmwfmﬁéﬂ?%w%ﬁmﬁq
(1) orisEE - Faifad g

2) e -~ G T AAEHT
(3) THaw” — YU BN Geredl

(@) dfrEr @ Bo —qW G FE
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68

(3) Advocate General (4) Attorney General
RA G H B waw oy sy wer s & 7
(1) 9a & wegafy . (2) YRa & J&r =l
(3) T (4) TErErErERd

69 President of India, elected unopposed is -
(1) Rajendra Prasad {2)  S. Radhakrishnan
(3) V. V. Gir (4) N. Sanjeev Reddy
fieRty w0 ¥ Pratfe wwa & WWF%T z -~
(1) o= ToE 2) W TuUPEH
@) & . Pl | (@) . wfa @

70  Direct Democracy is executed at - _
(1) Gram Sabha (2) Gram Panchayat
(3) Panchayat Samiti (4) Zila Parishad
I S @ Geartaty B &
(1) v g o 2) W vTaEe §
(3) Y afRy & (4) Taem oferg &

71 With which neighbouring country, India has a di spute on its Human Rights Record ?
(1) Maideev (2). Sri Lanka
{3) Nepal (4) Bangladesh
ﬁm@%ﬁ%&r%m&rmﬂamﬁaﬂéwwwﬁaﬁ% ?
OB GEE (2) i
(3) Aww (4) =Ry

3741 15

R

By which Constitutional Amendment, Judicial Review on Constitutional

Amendments was prohibited ?

%Hﬁmﬁmﬂaﬁmmﬁmﬁwﬁsﬁw%mﬁawﬁmﬁﬁﬁ@ﬁwwm?

(1) 24 Amendment (2)
(3) 42 Amendment 4)
(1)  24aT gslem (2)
(3) 42at geluw (4)

25M Amendment’

43 Amendment

2591 gargT
43T el

Who s known as the 'First Law Officer’ of the Government of India ?

(1) President of India

Download Pdf : Please visit www.teachergyan.com

(2) Chief Justice of India
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74

Arrange the following incidents of Indian Democracy in ascending chronological
order and select the correct answer : _

(a) Formation of National Front Government at the Centre

(b) Second Nuclear Test

(c) Supreme Court's Verdict in Shah Bano Case

(d) Implementation of Mandal Commission Recommendations

Codes :

(1) () (a), (d), (&) (2) (d), (o), (b) (a)

(3) (a) ®), (0), (D 4 ®), (a), (d) (©

TRAT AT H Prifed qeel B il FRETER At Hikeg T T S
& dd+ a?l'f\?ﬁ;f :

(a) = F U Al G S e

(b) TEY TPEBE TLIEeT z

(c) 9ME 9N g&Ter # Soaad =g & Fe

(d) ws@ s & fawmied 1 Gratate

F< :

(1) (), (a), (d), (b) (2)  (d), (c), (b) (a)

(3) (@), (), (), (d) (4)  (b), (a), (d), ()

Which two states have dispute over the distribution of Krishna River water ?
(1) Karnataka - Tamil Nadu (2) Tamil Nadu - Andhra Pradesh
(3) Andhra Pradesh - Odisha (4) Goa - Karnataka

HW A F WA B T G e @ Tl F Aed faag ¥ 7

(1)  =ies — afrrg (2) dFETg — SNy I

(3) iy wisr — siffssm (4) e — FeAew

Identify the Group of countries, working to attain permanent membership for India
4n United Nation's Security Council ?

(1) BRIC (2) BRICS

3y G4 4y G-20

39Tl % G5 Bl B, S WGHR Uz bl Y& UNWE A ARG @ Wil el & Mg
HEATT T P

(1) &= (2) B
(3) -4 : (4) w20
75  Among the following, what is not an impact of Globalization on Indian Politics ?
(1)  New Social Movements (2) Ideological Solidarity
(3) Identity Politics (4) Development Discourse
frrmifes ¥ ¥ 1 WIRAT TSHIR 9% HSABL B W T2l § 7
(1) 3 wrises se (2) TERuaTETE TEed
(3) wEEN FH Tl () Frem-fmd
76  The National Commission for Women was set-up in -
(1) 1990 (2) 1992
(3) 1993 4y 1994
LT AR AT FTST TS —
(1) 1990 % (2) 1992%
(3) 1993 & (4) 1994 %
37 A 16 [ Contd...
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"Sociology is about social relationship, the network of relationships we call society”.
Definition given by

(1) Cuber (2) Maciver and Page

(3) Green 4) Sorokin

gAY TR Teerell o fawa ¥ &, vl & 3w o @ o 99 wed ¥ wRe
Ul : ' '

1) =T (2) "R o I
(3) T (4) wrfed
78  Which one is not the example of Primary group ?
(1) Family {2)._Play group
(3) Neighbourhood {4) DPohtical party
T ¥ O WU TE W OSSR W ¥
(1) «qfEr (2) e T
(3) wEBa (4) el &
79 When a class is somewhat strictly hereditary is called
(1) Varna (2) Group
(3) Caste ' {(4) None of the above
g UH o QUi SO i snaiia fer ¥ i weem &
(1) (2) wE
(3).. ity (4) T T BE W
80  Which of the following factor is not hindrance in national integration ?
(I)  Casteism 4 (2) Regionalism
(3) ~ Urbantsation (4) Communalism
frffen & § @ @1 @@ Usira udEi § Wy w8 7
(1)  wifiers (2) &var
(3) T 4) EEREaE
81 "History of caste in India" book is written by
(1) . Herbert Risley (2) S. V. Ketkar
3) G S. Ghurye {4) Bottomore
el ot =R 3w shrean e forell ¥
(1) &= Rew (2) wa. <. HESC
(3) i u@ g4 (4) rRMER
82 Class is determined on the basis of
(1) Age (Z) Race
(3) Sex (4) Occupation
Tt % Fraler &1 s ¥ -
(1) =g (2) il
(3) fetn 4) =aamE
37 A] | 17 [ Contd...
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83  Which is not the cause of communalism ?
(1} Political interest {(2) Religious dogmatism
(3) Communal organisations (4)  Economic development
T W BT AT B BT al ¥ 7 '
() To=fes R (2) wifie =FaEr
(3) wEETYE e (4) o e
84  Which one is not the type of Purushartha ?
(1) Dharma (2) Moksha
(3) Arth (4) Love
R ¥ UH Gourd g T Y -
(1) et (2) == &
(3) @ @) 3w
"Collection of human beings who are brought into social relationships with one
another” is called
(1) Status (2) Social organisation
(3)/ Social group - (4) Institution
‘el @ EaE St f6 Uw gy F ww wnlie g i e 2 HEAT & ~
(1) wRefy (2) wrve BT
(3) i e @) wen
86  Who said "Caste is a closed class" ? -
(I) "D. N. Majumdar {2) T Parsons
(3) S. C. Dube (4) Karl Marx .
SR Tk g% q Y A e Roww 37
(1) 1 o1 woFaER 2y A wEw
(3) uw H. g 4) et =R
87  Classical name of Love marriage is
(1) Gandharv Vivah (2) Brahma Vivah
(3) Dev Vivah (4) Prajapatya Vivah
Ty frare @ o T
(1) e fae (2) = fomme
(3) = fre (4) v fears
88  Who is the author of the book "Marriage and Family in India" ?
(1) D. N. Majumdar (2) S. C.Dube
(3) K. M. Kapadia : (4)  A. M. Shah
AT yoe Rl T shear’ qme % dwm A L 7
(1) <. T. wmEaR (2) we @@
(3) & wa. wHulfEar 4) uw .
37 A] 18 { Contd...
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89  The first recognized cases of AIDS were occured in the
(I) USA (2} USSR
(3) UK (4) India
@(@S)%a&quﬁw&aﬁvﬁmﬁqﬁnﬂ% ?
(1) 39 wy u (2) 9. wa ug. em.
(3) 3 = 4) g
96  Which year 'The Hindu Marriage Act' was implimenied ?
(1) 1958 (2) 1955
(3) 1968 ' @) 1945
'The Hindu Marriage Act' f5g g 3 A forar T ?
(1) 1958 () 1955
(3) 1968 (4) 1945
91 The'base accepted by Karl Marx in the formation of class is
(1) Religion ' (2) Social
3) Cultural (4) Economic
,mwmé%aﬁﬁﬁwmwwﬁﬁmrﬁm%, TwE
(1) e . (2) wmiTE
(3)  witHlew 4) = onf=m
92 Who has written a book on “Social Change" 9 _
(1)~ R. M. Maciver (2) Wilbert E. Moore )
(3) " K. Devis. (4) H M. Johnson -
“HER A o Y e R o2
(1) & wq. deEa ' (2) faw=l 3 g5
(3) . g 4) wa . seEs
93 Nepotism, Favouritism and misuse of power are all examples of
(1)  Corruption (2) Ignorance .
(3) Conflict (4)  Social solidarity
M- HATTeIG, e, TR B gEwET i Rewar serec ¥ 7
(1)  wemEE @t (2) ST
(3) wud e 4) s oof g @
94 Who is the author of book "The Protestant Ethics and the Spirit of Capitalism' ?
(1) Durkheim (Z) Maxweber
(3) Malinowaski (4) Merton
The Protestant Ethics and the Spirit of Capitalism' Y& % g @9 & 7
(1) &M (2) HwEE
(3) A 4y #=&
37 A] - 19 { Contd...
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97

93

99

Who has used the word 'Sociology' for the first time ?

(1) Durkheim (2) Comte

(3) Marx (4) Pareto

AT 9T BT 9w guar fee fear ar ?

(1) 3@ (2) @i

(3) W @ =&

Who said, “Administration is a moral act and Administrator is a moral agent" ?
(1) Ordway Tead (2) Felix Nigro

(3) M. E. Dimmock (4) H. Finer

e et f6 Comes uw Al TR ¥ it aes U e sttt 7
(1) onsq Az (2) iwag o

(3) wmnefw §. Rt @) TEEER

Administration would differ from one sphere (e.g., Education) to another sphere
(e.g.. Public works), if we accept which one of the following view ?

{1) POSDCORB (2) Managerial

(3) Integral {4) None of the above

et o § R gieamior &1 Wit A% IR U &4 (3, Ren) %qa"(a%r (e, Wi fmior)
&F TET | {Har on s 7 :

(1) dreHHE (2) weEEE

(3) - wwE (4) S A PR T

The most representative work in ‘the II phase of development of Public
Administration as a discipline has been ? _

(1) Frank J. Goodnow's - Politics and Administration

(2) L. D. White's - Introduction to the Study of Public Administration

(3) W._E Willoughby's - Principles of Public Administration

(4) Gullick and Urwick's - Papers on the Science of Administration
musm%wﬁw%wﬁﬁm%%ﬁuwaﬁwﬁ%w&ﬁﬂrwﬁ@ off ?
(1) %% S TS @ — ol e HTE

(2) ud. . =mEE @ — Wi UWE STAAT @ WAwT

(3) ==g. U T A - diw uerEe % e

@) T T SR A v ¥ R W

Which of the following was most emphasised in “New Public Administration"?
(1) Customer driven Administration (2) Market Oriented Administration

(3) Ethical Administration (4) Transparant Administration
T Wik ST # WAl §q fow 7 ¥ few ug fer a7
(1) TEew g G (2) TR PR wIEA
(3) A waTEA (4) R v
37_A] 20 [ Contd...
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100 Identify the wrong pair :

101

102

103

104

(1) Neo-bureaucratic model - Herbert Simon

(2) Beyond ballot box democracy - John Rawls
(3) Democratic Administration - Vincent Ostrain
(4) New Public Service - Jurgen Habermas

T g B T HY

(1)  Ta-TEeara gfmm - w8 o

(2) AU & T gEET — W e

(3) v yaee- Rz s

(4) 79 d@ a1 - T e

Which of the following represents 'one best way' of structuring organisation 7
(1) Bureaucratic theory (2) Classical theory

(3)  Scientific management theory (4) All the above

B F 8 ek o @) fffe e ¥ i (T wddrs alion) ey wehfg
FALE ?

(1) dreptemém Ryt (2) e faaia

(3) Imfv= v fireia (4) wudet @iy

Which one is not the characteristics of Bureaucratic form of organisation ?
(1) Rationality

(2) Rule orientation

(3) Impersonality

(4)  Committment towards political ideology

Fr A X B st weT wrew o Rastear w8 & 7

(1) el B

(). Twr-3am y

(3)  Frdfrpar

(4) TeHRis enest ¥ Wiy whEed

'Union is_strength’. Which of the following Principles of Management given by
Fayol represent this idea ? :

(1) Centralisation (2) Esprit-de-corps

(3) Equity (4) Scalar-chain

e B R s %ahmuﬁr%ﬁmﬁ%%aﬁaiﬁﬂ@ﬁff%ﬁmtaﬁwaﬁ
BT ?

(1) sremer (2) wEh<rmi

(3) @A (4) WA

"Identifying occasion when a decision must be taken” this statement refers to
which activity in- Simon's decision making meodel ?

(1) Intelligence activity (2) Design activity

(3) Choice activity (4) None of the above '

T SIET B T G S U Profa ar eraravas @ war & o T& HAT EAT
Pt Fetor =fsw % Rre Brar & ddfg & 7

® v (2) P fo

(3) =u Bear @ fmh

37 A . 21 [ Contd...
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105 Which one of the following is not a Hygiene factor as per Herzberg ?
(1) Achievement and growth needs
(2} Company policy and Administration
(3) Working conditions and Salary
(4) Supervision and Interpersonal relationship
T % FIAR B ¥ ¥ B u vt s T8 2 7
() wiitq & gfg sravaeant
(2) & & ARy wemEy
(3) =TT ud I
@) wEEaT o sadatae gy
106 "Civil servants should not confuse ‘Political neutrality' with 'Programme neutrality".”
‘Who said ? F
(1) 1L ARC report (2) Paul H. Appleby
(3) Jawaharlal Nehru {(4) Sardar Patel
i Y W IS T @ T qeear & WA SewT w7 ¥ TH e
TR’ < aw Regd wer ?
(1) i wsmabe gam s (2) uE @
(3)/ AW W YEw @) @R W
107 In order to safeguard the neutrality and impartiality of the Civil Servants, IT A.R.C.
recommended which of the following ?
(1) - Politicisation of Civil Servants (2) Spoil system
(3) A new Civil Services Law (4} The repeal of Article 309
aﬁm@aﬁa%mmqﬁﬁwwéﬁmaﬁgﬁrﬁaﬁaﬁ%ﬁmfﬁﬁummﬁmgwm _
3 P A g Road emar A - i
(1) < Wo @ eiiyeer (2) < E-EER YT
(3) = d% da FEE ~(4) erg. 309 @ Braw
108 = Which of the following favoured a generalist dominated Civil Services 7
(1) Fulton Committee (2) Northcote-Trevelyan report
(3) Robert Presthus (4) Second Pay Commission
ﬁwﬁﬁﬁaﬁmﬁugﬁaﬁmwﬁaﬁﬁsmﬁ ?
(1) wpees qfify (2) SiRR—Tdws e
(3) = weuw (4) fie do emdim
109 Who held the opinion that when the work of a department is mainly technical, it
is desirable that the Secretary should be a person with technical ground in the
particular field ?
(1) Lord MaCaulay {2) B. Sivaraman
(3) Kothari Committee (4). - Second Pay Commission
e 58 79 @ wwdw T 5 A feelt forTmr 6 B v w7 @ gmiE @ @, e
81 & Tashwer & g aoman s Wl 2
(1) w& e (2) & R
(3) wrETq whify (4) f&fam da= emw
37 A) 22 | Contd...
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118 In order to Encourage Citizen's participation in Administration, 1T A.R.C.
recommendation does not include which of the following ?
(1} Periodic Consultations with Citizen's group
(2)  Fool proof system for registration of all complaints
(3) A prescribed time schedule for response and resolution
(4) Making social audit mandatory for all government departments

usmﬁmwrﬁmgﬁﬁaam%%@ﬁﬁﬁuumﬁmgmm@w%ﬁmﬁw

(1) =i et & Fives avamf 3 b9 s

(2)  wt et & SR ¥y i e s @ R

() T v 9 glier ¥q evEoael & s

) TR T it % R wrfi sidarr g vl qamr

% 111 Which one of the following is not a mechanism for ensuring Citizen's participation
: in Administration ?
(1) ~Universal Adult franchise
(2)  Right to Information
(3  Social Audit
(4)  Use of referendum for changes in Public Policy :
wamﬁammﬁmrmﬁmaﬂﬁaﬂﬁmﬁ%aﬁ?mwmﬁﬁ% ?
(1)  wriife e Fafer
(2) gum w st
_. (3) s eivbae

112 When was the Lokpal and Lok-Ayukta Bill first introduced in Indian parliament?

(1) 2 March, 1963 (2} 24 February, 1963

(3) "9 May, 1968 - (4} 29 Oct., 1971
mﬁhawffaﬁqmqémmgﬁﬁﬁﬁwﬁqmmmgﬁﬁmwm ?
(1) 2@ 1963 (2) 24 wrad 1963

(3) 9 =g 1968 (4) 29 ez, 1971

113 'Which one of the following statement is not true ?

(1) Odissa was the first state to pass the Lok Ayukta act.

(2) " In most of the states, the tenure of Lok Ayukta is 5 yrs. or 65 yrs.
superannuation age, whichever is earlier.

(3) Lok Ayukta have powers of only Civil Court.

(4) Ministers have been kept out of purview of Lok Ayukia.

P f ¥ B e we ema 7

(D a\wwmﬁﬁaﬂ%wumwaﬁ:ﬁwml

) m:ﬁﬁﬁ,ﬁmmw@asaﬁmm%aﬁﬁaﬁqﬁﬁﬁﬁm
CAE .

(3) W@Wﬁwﬁwa&aﬁmﬁmﬁ%l

(4) W = AR @ dage % dmbye @ a var T d |

37 A] _ | 23 [ Contd...
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116

Who among the following is not Consulted by Governor while appointing Lok
Ayukta in Rajasthan ?7

(1) Leader of opposition in State Assembly

(2) President of India

(3) Chief Minister of the State

(4) Chief Justice of the High Court

TRy ¥ wigea @1 trgiR I, Ivaaw te A | feew aeEst w9 wer 7
(1) o= Ryt T ¥ wlioa S

(2) WA & AN

(3) T W gEEEsl

(4) T EEd % T A

The meaning of Rta in vedic literature is

(1) Yagna etc (2) Immortality of Soul
(3) Eternal moral cosmic order (4) Polytheism

ARep ol & =a w1 ored ¥

(1) = ey FHHIs (2) ST B ST

(3) onsaa Ay wevSE SR (4) «gd 9|

Word 'Upnisad’ means _
(1) Charter of vedic duties {2) Spiritual literature
(3) To sit reverentially by the 'Guru' (4) Discussion about transcendental

Fafree’ o @ ol ®

(1) e fufem w<e & g @) st
(3) 7% % win Fergds e ) egaedE fawas e
117 Which of the following is not true according to Socrates ?
(1) Knowledge 18 virtue (2) Virtue is unattainable
(3) Virtue is essentially one {4) Virtue a can be taught.
o ¥ oTyEr Frefiiaa ¥ @ Fm s ¥ °
(1) = & T E (2) = I T
(3) WU A ETH TS & (4w faeria ¥
118 The author of 'Nichomachean Ethics" is
(1} Plato (2) Spencer
(3)  Aristotle (4) Bentham
FrepaReT altam’ & i @
(1) =& (2) W
() o @)
119 Plato does not support
(1) Excellence of character {2) Justice
(3) Classless society {(4) Formal Education
W FR wAE T ¥
(1) =afer st Sepsea 2) =w
(3) ot e g (4) ohunter fven
37 A] | 24 [ Contd...
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Gross Hedonism holds that

(I) Pleasures have only qualitative difference

(2) Pleasures have only quantitative difference

(3) Pleasures have qualitative and quantitative difference
(4) Pleasure is a means to some higher end

WA AR # qrar &

(1) F&l ¥ Faa TorRs 99 or &

() &t A baw v Vg Bar

(3) gl ¥ oo @ AT Wq g ¥
(4) gu Redt somay aren & oy o G ¥

Which of the following is not significant relevant®in Kantian Ethics ?
(1)  Consequence of action (2) Good will

(3) Freedom of will (4) Kingdom of Ends
%ﬁﬁwm%%&mﬁ%@mﬁﬁm% ?

(1) = wa (2) g9 THw

(3) ey w@=E (4) et m g

There are three Theories of Punishment, retributive, reformative and
(1) Positive (2) Curative

(3) Imaginative (4) ' Deterrent or Preventive
e % 4 e ¥, s, gurers oo

(1)  w=Es : (2) SWREAH :

(3) @i : (4) wEreTs a1 Frad=roms

Which .one of the following expresses best the thesis of determinism ?
(1) "Whatever happens is the will of God.

(2) Whatever happens is predictable.

(3) Whatever happens is preordained.

(4)  One ean act according to one's will. '

Wﬁﬁﬁmﬁm%@%ﬁ@aﬂ%%&aﬁm%ﬂﬁaﬁw% ?
(1) il ufs g 2, 9% Seates & |

() s A afew g ¥, @ vl O E

(3) =it o wled Far ¥, T o Prefkg T

(4) RS A T FIER B BT ST 5 |

What is the correct sequence of Purushartha

(1)  Arth, Kam, Moksh, Dharm (2) Kam, Arth, Dharm, Moksh
(3) Moksh, Arth, Dharm, Kam (4) Dhaim, Arth, Kam, Moksh
gEuTdl B ' Y ¥ v |

(1) o, =, da, onf - (2) wm, sk, @, Gy

(3) #a, o, wd, e @) ud, &, om, W

Eo ot o
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125 According to Bhagvad-Gita a literated person is one who has given up
(A) Desire (B) Actions
(C) Attachment (D) Anger
Which of the following is correct ?
() (A) and (D) (2) (B)and (C)
(3) (B) and (D) (4) (A) and (C)
Wirag Tar & SER 99 S 98 ¥, e @ Rar ¥ -
(A) el @ (B) B
(C) onafemral =t (D) sHiEr @t
Fet & @t feq @dt & 7
(1) (A)wE (D) 2 ® )
3y B)w D) 4)(A) w3 (C)
126 According to whom wisdom courage, temperance and juztice are four philosophical
virtues ?
(1) Plato (2) Aristotle
(3) Socrates (4) Kant
fruh SR WS, WRw, WM, T 9 9] i g § 7
W < (2) goE
Gy s\ (4) ®me
127 Which one of the following is not a part of Vedas ?
(1) Samhita (2) Purana
(3) Brahaman (4) Aranyakas
Fre # 8 T 9% S Tl v 7
R @ g
(3) ~=ETw (4)  wEE -
128 Four Arya Satyas (Noble truth) do not state that «
{1) The suffering is there : (2) The suffering is eternal
(3) The suffering can be removed  (4) The suffering has cause
o S Gl b STTUR UH el € T
() gE¥ (2) T& M &
(3) 3@ @ FOw wea ® (4) g & BT
129 Gandhi's Satyagrah disapproves
{1) Love for opponent (2) Path of Non-viclence
(3) Moral strength (4) Passive Resistance
e & TEE STEGR BN 8
(1) Tl & fog o (2) efEm = "
(¢) w T@ (4) fwa vida
130 The self evident truth according to Descartes is
(1) God is Kind and All powerful.  (2) God created the world.
(3) I think therefore 1 am, {4) The world i1s ever changing.
o ¥ SR W frw T B
(1) Svatoag ol wd sfRmm= & 1 (2)  dear ¥ o o T A ¥ )
() & v § o R & (4) < - a1 dfedse ¥ )
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131 Teacher as per Nationai Curriculum Framework 2005 18 a:

(1) Boss (2)  Facilitator

(3) Leader {(4)  None of the above
Tf@!ﬂ%ﬁ?ﬁ%%q?fﬁﬁ@%eﬂmtﬁm%:

(1) -nfes (2) g :
() Far (4) SR ¥ ¥ R

132 Following are the principles of construction of social studies curriculum except

(1)  Principle of utility (2) Principle of flexibility
(3)  Principle of activity 4) Congrerva_tive
ﬁw%iﬁaﬁ@wmawaﬁmaﬁﬁqﬁ%ﬁ@a%, foama
(1) S o e (2) T %7 e

(3)  Terar @ Ry (4) wfeard

133 According to Bloom's taxonormy which of the following action/s belong/s to
‘Cognitive Domain' :

(A) to recall
(B} to analyse
(C) to write
(1) (A) and (C) - @ (A) and B)
(3) (B) and (©C) (4)  (A) only
- w%mﬁwm%aamrﬁwﬁ%ﬁw{ﬁﬁww%ﬂaﬁw%?
(A) ' YEmHT '
(B) Frywovr FHEp
(C) fagmn :
1) A @ (&) w®)
G) BTE) - 4) e (A)

134 An effective teacher is one who can ;
(1) Control the ¢lass
(2)  Give more information
(3) Correct the assignment carefirlly
{4) Motivate students to learn
wh FE fites w5 3, W
(1) = @ Frimor @ w%
(2) «itm g ¥ wy
@) TEwEd B wEEEE sitg 3t g%
(4)  frenfidt ®1 sremm ¥ frg dfa w2
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135 Which of the following would be best suited to enable children of Class-VI to
express their creativity ?
(1) Reading news papers (2) Preparation of charts
(3) Preparation of scrapbooks (4) Collection of coms
Srffae & ¥ BEar FA-VIL ¥ qaw & ST geresar ®f dfversd F A
T % e waife saga & ?
(1) AR 9% (2) TRE IR S
(3) SHIgE JEL HA (4) Tt w1 @ w0
136 Social studies study the relationships between :
(1) Man and man (2) Man and institutes
(3) Man and earth (4) All of above
QAT STeaae 9% g & Srasl BT STedaT § °
(1) eI A (2) wd T Hean
(3) AFE Td gt (4) SR T
137 Which of the following practice of teaching social studies allows for a critical
analysis of a dilemma, historical event or social occurrence by the students 7
(1) Field trips (2) Lecture
(3) Project (4) Role playing
fo F § ST S fase e @ vy foanfia @t et giten, YRl wem
NETaT G BT & SR [y B SN e ?
(1) & a=g (2) =wEr
(3) * URESTET T (4) wfrer G -
138 Which of the following method/s are child centred ?
(A) Role playing (B) Brain storming
(C) Problem solving (D) Co-operative learning
(1) (A), B)and (C) @ (A) and (B)
(3) Only (C) _ (4) All of these
P @ ) Ryt Rt Bfe ¥ 7
(A) I e (B) w@/afta frem
(C) wAET G (D) TEame eIt
(1) (A), B)W(C) 2 (A (B)
(3) e (C) @ &=
139 The term evaluation includes :
(1) Measurement (2) Non Measurement
(3) Value Judgement (4) All of the above
i o o ¥
(1) ¥uq (2) s
(3) Tw T (4) <R I
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Learning takes place :

(1) In the school

(2) Outside the school

(3) Both within and outside the school
(4) Only in the classroom

AR B F

(1) ey q

2) FrrE % 9w

(3) = W o  wE ey

(4) wIT BA-HH

Introductton of continuous and comprehensive evaﬁlation has made the evaluation
system :

(1) More refractive of the entire personality of the child

(2) ~ Complex by incorporating to many details

(3) Vague as exact rank of the student cannot be found out

(4) More comprehensive to analyse the performance only in the scholastic areas
AT U IR [Fh @l SN F Yo ey

(1) =% & §9oT e & eifis yaild & S = 2

@) ga et e @ whufig @ g s e S

(3) o T R, Wi frnedl & Miew Y@ @ s T8 . 9w

(4)  <rae s & A P @ fisdroor wed % fire e gy

Project method is used in social studies teaching for :

(1} Self study y (2} Analysing activities

(3) Learning social environment {4) All of the above

TRt st e % e faRr @ e ¥ :
(1) @ wme % fa (2) Tiitafemy % fayersor % fro

(3) AT e B dE % e (4)  SedE e

Apart from the content a social studies teacher should have knowledge of :

(1)  Objective of teaching (2) Method of teaching
(3) Technique of teaching (4) All of the above
m#ﬁmaw%ﬁr%a%ﬁwaﬁﬁsmu—«waaﬁma@q :
(1) forerr S23ai (2) Trerr Rty @

(3) T gedle a@r " (4) <9Ew ol

Which type of questions will not develop critical thinking among social studies
students 7

(1) Close-ended questions (2} Divergent questions
(3) Open ended questions (4) Probing questions
6w vt & ue welve e & RrenfiEl ¥ sndirariers R @1 R T8 w0 ?
1) <= us (2) ewardl uss
() @ uw (4) @] e
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145 In which of the following method the teachers seen more as a facilitator than a
deliverer of knowledge and information 7

(A) Lecture method

(B) Project method

(C) Story telling method

Select the correct answer using the codes given below :

(1) Only (A) @) Only (B)

(3) (A) and (B) 4) (A), B and (C)

frrferfe & foot FayRfedt & fivers 1 e w9 T e wamar @ st s
B g T T A S

(A) wrEEE iy 'y

(B) T fafy

(C) =t fufy

J 1[4 7 B ¥ @ ey 7 oaaw 2w -

(1) e (A) (2) %aw (B)

Gy A wW(B) - @) (A, Bw(€)

146 The philosophical basis of project method lies in

(1) Idealism (2) Naturalism

(3) Pragmatism (4) None of above
vt faftr #r it R

(1) onestare ® (2)  whmaws ¥

G) vERAEE § @) o q B 7

147 A teacher of social studies may update him/herself professional through :
(A) Participation in refresher course
(B) Attending conference
(C) Being an active member of professional organizations/bodies
(D) Reading Jourpals and magazines of hisher field
(1) All the four are true (2) Only (A) and (D)
(3) (4), (B) and (D) (4) None of the above
TSI AT BT T e Y B ATAEE W Y ceaT w0 g
(A) Yo WoTET 7 NE WY
(B) ditftedl & wrr arepe
- (C) =it e/t ® Bl gee wwet
D) o &3 1 uferd o wwle wwet

(1) = ede (2) &% (A) wd (D)
3) (A, B (D) (4) <UE ¥ ¥ B T
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The five step approach of lesson planning is created to :

(1) Johann Friedrich Herbart (2) William Heard Kilpatrick
(3} Rousseau (4) Herbert Spencer

TS AT 6 Sy IUTT %5 S e o

(1) <iEe Weiw w1 e & (2) Tt =& frtfes =i
(3) == W (4) =@ W

Some institutional support materials are given below. Decide their nature and
select the answer from the codes given below

{A) Blackboard v

(B) Computer '

(C) Presentation using Power Point

Codes :

(1) (A) is hardware and (B), (C) are software

(2) (A) and (B) are hardware and (C) is software

{3) All are software

(4) All are hardware
ﬁ%@s@g&&mﬂmﬁ@ﬁﬂé%lﬁa&@%ﬁﬁﬁmﬂ%ﬁqﬁﬁmaﬁsﬁ
¥ e WX 94T BN

(A) vam Ug

(B)  wrex

(C) dER uE= &N Wed

P : -

(1) *(A) %8R Brew & Tt (B) 7 (C) #iwr e 3 -

(2) " (A) @ (B) ®eR Biea & @ (C) wiwa Brw ¥

(3) =7 ®ma Rew ¥

4) a9 %At e ¥

Curriculum includes which of the following item ?
Select the correct answer using the codes given below -
(A) Course contents

(B} Programme of planned activities

(C)  Intended learning out comes

Codes :
(1) (A)and (B) (2) (B) and (C)
(3) (A), (B)and (C) (4)  Only (A)

urezeEt ® A F ¥ R0 we wfeiig o7
T RU T P F ¥ o I W T B
(A) fowa =g

B) Tt nfafaiet = srfeg

(C) =&t 7§ ety witrat

g :
(1) (A) oiR (B) 2 B)#(©)

3) (A, B) K (C) (4) @ (A)
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